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Pupils are shy

Pupils still could not
adapt themselves with
the new environment
3. Pupils did not
understand what the
teacher said
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PROBLEM

The teacher at
Tumble Tots has
difficulties in

Potential negative effects :
1. Teacher does not
have time to take
care of the other
pupils
2. The pupils become
spoiled
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handling two until [«
three years old
pupils to speak up

Potential solution 1 :
The teacher must

Potential negative effects :
1. The parent can be
angry to their
children
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approach the pupils
more closely

1. The learning process
becomes more slowly than it
should be.

2. The teacher has to spend
extra time to encourage the
pupil to speak

3. The other pupils will be
neglected

Potential positive effect :
1. Pupils will feel
comfortable

Potential solution 2 :
The teacher should
try to talk to their

2. The teacher must
spend extra time to
speak to the parents

Potential negative effect :
1. School should spend

—»| parents to encourage
the quiet pupils to
speak
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2. Pupils will be
more confident
to speak

Potential positive effect :

1. Pupils will be
more

comfortable

Potential solution 3 :
The school hires a

more money to pay the
teacher assistant
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teacher assistant

2. Pupils will be
more confident
and be brave to
speak in class

Potential Positive effect :
1. A teacher assistant can

help the teacher in
encouraging the pupils to
sneak

Choosen Solutions

parent to encourage them

The teacher must approach the pupils more closely and try to talk to their




